The AABC °|A &o] h & F-5Fozt

A
BC
N
> &
> HE 6V3-6
B
12

h=——"##9Z¥/——
taIiQO" + tan 45°

T VB+1
=6(Vv3-1)




>
> Heh 202 cm?

1
(§°]) = = x 8x 10 x sin (180° - 135°)

:§><8><10><sin45°

1 g
:§x8x10x%_:20\/§(cm2)




U5 193 22 AABC 9] HlolE otolzt.

\VARR 4
0
iy

273

B

1
(AABC) = = x 18 X 6 V3 x sin 30°

1
—§><18x6\/§><§
=273




4.  Ha BP9 Holg Fotolet A D

\VARR 4
0
L

30 cm?

(H°]) =52 x 6 x sin 45°

2
=5«/§x6x‘/7_=30(cm2)




oh& 2} Zo] §HAE9] Zol7t sem Q1 Lol sk Huztee)
Holg Fatolet,

cCt - 2
=

>
> Hel 128V2cem?

B

360° + 8 = 45°

(AAOH 9] Ho])= % X 8 X 8 x sin45 °o|OL2

3 1 2
(B 9] yo|)= 5 X 8 X 8 X ‘/7_ x 8 = 128 V2 (cm?)




